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=0 ZF0elE M1 873,089 935,779 A 62,690
= 18,000
= 93,544
s 761,545
sELNE L NGSMES =4 185,520 173,376 12,144
201 2et2d]| 27,920 27,776 144
01 At 2teltl 27,920 27,776 144
o SYNUME 222 HEH
50,000 = 1204 = 23] 1,200
o SEAMY sHUE WM
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o SEAMY MAAH Mo BT
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202 044l 42,000 42,000 0
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o SYIEHE YAEFO
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203 &2 =&XH| 4,000 4,000 0
03 Al =& 2 = X H| 4,000 4,000 0]
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= 18,000
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307 2iz2to| & 30,000 30,000 0
= 18,000
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02 QIZ2IAAAIE E X 30,000 30,000 0
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= 18,000
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201 YEr2 Y| 209,740 161,620 48,120
01 AP 22| d| 59,860 40,540 19,320
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o HAEE AHAULZ 24 200,000& ~ 12€ 2,400
o MJ| otd e 24 450,000€ * 12€ 5,400
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o ANAEZE dIIEEH 29
4,000,000 = 23| 8,000
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= 1,000
< 300
[ia 700
01 At 22/l 2,000 2,000 0
o =&0Y MUlA - tEDF
2,000,000& = 13l 2,000
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SMHHENE NS MRE HE N& 31,546 31,546 0
= 15,904
< 4,693
s 10,949
307 gl2tol & 31,546 31,546 0
= 15,904
< 4,693
s 10,949
02 (It HAMHEE 31,546 31,546 0
o AAREME lAdl X 31,546,000& 31,546
= 15,904
< 4,693
[ia 10,949
Z2BHA=SH XJAS 116,010 116,010 0
= 58,005
< 17,402
i 40,603
301 LPEXS 116,010 116,010 0
= 58,005
< 17,402
e 40,603
12 JIE24 3 116,010 116,010 0
o ZABHMAN=N 116,009, 540& 116,010
= 58,005
< 17,402
s 40,603
SEMENS 88 & U= 10,800 10,800 0
201 Let24d] 8,000 8,000 0
01 At 22l 8,000 8,000 0
o sZME0s g8 8,000
-MEgRA 29 3,000,000 = 13l 3,000
-E2822 2 JIE3Z MHE 2,000& x 2,500% 5,000
301 LEXZ 2,800 2,800 0
09 HALAHIX A S 2,800 2,800 0
o oM 298 FA&A2H
20,000& = 10¥ = 103l 2,000
o ME0ots 48X HE 800,000& * 13 800
sgole =X XA 6,652,693 1,354,693 5,298,000
< 2,393,287
e 4,259,406
=gy stits XA 293,550 293,550 0
< 64,581
s 228,969
301 LEBEAZ 293,550 293,550 0
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o 228,969
02 Hetz Ltttz 293,550 293,550
o s NS K& 950,000& = 3094H 293,550
< 64,581
[ia 228,969
sSHER0IXH 14,963 14,963
< 1,870
s 13,093
307 21201 A 14,963 14,963
< 1,870
[ia 13,093
02 QItFAAHE X 14,963 14,963
o sJtE=0 X 18,703,750& * 80% 14,963
= 1,870
fia 13,093
OlASME 29 X 123,500 123,500
= 26,000
s 97,500
307 glz2tol & 123,500 123,500
< 26,000
s 97,500
02 IZHE M AHE L 123,500 123,500
o Hd=gQ dy 29
130,000,000& * 1JHA = 95% 123,500
< 26,000
s 97,500
s8I 02334 NE 224,000 224,000
< 45,600
s 178,400
307 21201 A 224,000 224,000
< 45,600
[ia 178,400
02 IZtE M AHE L 224,000 224,000
o 023324 XNF  2,000,000& * 11294 & 224,000
< 45,600
[ia 178,400
=0 FSH XNEAY 70,000 70,000
< 10,500
s 59,500
402 RIZER20l A 70,000 70,000
< 10,500
s 59,500
03 212t &AL S HI 70,000 70,000
o sgo ESH 2U2HHE AFS I
70,000,000& 70,000
< 10,500
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307 gl2tol & 50,000 50,000 0
< 15,000
s 35,000
02 PIZHEHAHE X 50,000 50,000 0
o SEOANAME 2
50,000,000& = 2JH 4 = 50% 50,000
S 15,000
s 35,000
=0 H=HDH KR AL 553,680 553,680 0
= 110,736
2 442,944
307 gl2tol & 553,680 553,680 0
< 110,736
2 442,944
05 BIZHRI & 3 553,680 553,680 0
o GMEY0 H=HRH X
200,000& = 3,076 * 90% 553,680
= 110,736
= 442,944
sEMsUs g5 N2 (HE) 25,000 25,000 0
307 21201 A 25,000 25,000 0
02 It S AIHE L 25,000 25,000 0
o sZEMslis gsX&
25,000,000& * 10H 4 25,000
s02 3d==g T& 5,298,000 0 5,298,000
< 2,119,000
s 3,179,000
301 LA F 5,298,000 0 5,298,000
< 2,119,000
[ia 3,179,000
12JIE243 5,298,000 0 5,298,000
o H0i0 Zosg X
600,000& * 8,8308 S Al 5,298,000
= 2,119,000
s 3,179,000
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sXolEael XA 27,941 27,941 0
= 4,711
s 23,230
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o SKOISAEEA BEX) B4
25,817,000 25,817
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= 23,230
201 Bt 2,124 2,124 0
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01 AP 22| H| 2,124 2,124 0
o sX0IZ2AEITAL 2EHI| 2,124,000 2,124
= 2,124
AStH =g AN 2 18,951,622 19,032,483 80,861
= 10,913,096
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EA=E =4 14,255,115 14,542,336 N 287,221
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J| 32,600
& 1,025,402
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= 121,023
101 2121 H| 96,055 93,372 2,683
04 JI2ZtHIZ22NEE S 96,055 93,372 2,683
o HNEN YR 2EXES
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3,000& * 500 = 23| 3,000
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5,000& * 2,000 10,000
o WEBB=AAR =T S|
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202 044l 4,800 4,800 0
01 2L b 4,800 4,800 0
o HMEASAAL =X
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< 1,500
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o HBASHES HAZE HAX
3,000,000& =+ 13l 3,000
< 1,500
[ia 1,500
s Mol SE2X& 27,800 27,800 0
201 L2l 9,800 9,800 0
01 At 2t 2l 9,800 9,800 0
o SYUNH S s=2LESI| =W
1,400,000 * 73l 9,800
302 Ol THoH E & = 18,000 18,000 0
02 QIZHITHOH R EFR &S 2N = 18,000 18,000 0
o M & sELESI N
3,000 * 5002 = 123/ 18,000
= EHE S MUK 2 (S MAZEH) 686,800 1,101,600 A 414,800
2 549,440
< 27,470
s 109,890
301 LEHZ 686,800 1,101,600 A 414,800
= 549,440
< 27,470
s 109,890
12JEEd= 686,800 1,101,600 A 414,800
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2 549,440
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Aetd S S K SANY 980,750 980,750 0
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101 e1214| 32,600 0 32,600
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= 66,048
s 66,048
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o YMR HHY 42 1HO X
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= 66,048
e 66,048
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402 RI2EXt20l ™ 7,920 0 7,920
= 3,960
< 1,188
e 2,772
02 RIZEXt 2 AL EZ (OIS ) 7,920 0 7,920
o FHOMESE ZEAE NEAL
1,650,0002 * 6CH * 80% 7,920
= 3,960
< 1,188
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2N SYELD
HE: AEFsY MY A5
ool HEASY S4 (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | = 2,772
dEd 52 ]Rlls ©®X =24 4,696,507 4,490, 147 206,360
= 1,942,273
< 247,753
s 2,506,481
MEtdse & X Jlgtxd 326,000 376,000 A50,000
301 LEH = 108,000 108,000 0
12|24 = 108,000 108,000 0
o ZEZH MUK SsLHL X
60,000& = 600ha * 32l 108,000
307 21201 A 168,000 168,000 0
02 It S AHE L 168,000 168,000 0
o BN 2= MM NA(SIIE HIR
g) 4,000& * 60,0001 = 70% 168,000
402 RI2HXt20l ™ 50,000 100,000 250,000
01 212t 2 AL E = (REM ) 50,000 100,000 50,000
o Z2AXD| N 20,000,000& = 5CH = 50% 50,000
HEtdsits MaEy 288,000 288,000 0
301 LEMZ 288,000 288,000 0
12 JIEBHE4 = 288,000 288,000 0
o HBAH MARAT N (RIS, 259%)
267,000,000& * 14 267,000
o HEIsHJHR Mazelt s
35,000& = 600ha 21,000
RIS XA 70,287 84,173 A 13,886
= 28,115
< 12,652
[ia 29,520
307 21201 A 70,287 84,173 A 13,886
= 28,115
< 12,652
s 29,520
02 IS AHE L 70,287 84,173 A 13,886
o FEASNM(RIISLIM) XNE AL (127ha
) 126,520,000& * 50% 63,260
= 25,304
< 11,387
s 26,569
o A=A M(=HIEX) XA (127ha)
14,054,000& * 50% 7,027
= 2,811
< 1,265
s 2,951
=HIESX X2 (2HIF0) 13,886 0 13,886
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HE: AEFsY MY A5
Sl HEY =59 RIls SN X4 SREED
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o e 2
307 glz2tol & 13,886 0 13,886
02 PIZHEHAHEE 13,886 0 13,886
o HESBA=XUM(=UIER) NAAL (ZBIFIH)
46,286,000& = 30% 13,886
e R B NS 525,760 525,760 0
< 105,152
[ia 420,608
301 LeBAF 525,760 525,760 0
< 105,152
s 420,608
12 JIEBHE4 = 525,760 525,760 0
o MEtd=g X4 X (782ha)
525,760,000 525,760
< 105,152
s 420,608
HA=MS BBE AN 8,400 8,400 0
< 2,520
[ia 5,880
201 Let24d] 8,400 8,400 0
< 2,520
[ia 5,880
01 At 22l 8,400 8,400 0
o FEASME HR =% ZAHI(60A)
140,000& * 60 8,400
< 2,520
s 5,880
sgdsatE eEH XA 184,275 184,275 0
= 40,950
s 143,325
301 LeEAF 184,275 184,275 0
< 40,950
[ia 143,325
12JIE243 184,275 184,275 0
o HaF=M2 AEHIE X
650,000& = 31524 » 90% 184,275
< 40,950
[ia 143,325
MEdsaE 2 SHl X (Z2Hl) 146,250 146,250 0
301 LA F 146,250 146,250 0
12IJIEE243 146,250 146,250 0
o FBASMS USHIE X
650,000& * 25024 * 90% 146,250
RISt s&=2 M2 5,870 5,870 0
< 1,761
e 4,109
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i
2

307 21201 &

EUNL

5,870

1,761
4,109

5,870

o RIIsIt =2 Mol 2& (180ha)

5,870,000&

M

5,870

5,870

1,761
4,109

5,870

MW

2,066,328

1,228,955
837,373

1,966,328

100,000

402 RI2FX=01 M

M

2,066,328

1,228,955
837,373

1,966,328

100,000

03 212t &AL HI

o KJIA HIZXNH(ZH FEI})

1,600&  62,500%
1,600& = 1,228,955%

AW

2,066,328

100,000
1,966,328

1,228,955
737,373

1,966,328

100,000

15,000

15,000

15,000

15,000

|
* 75,000% * 50%

15,000

15,000

15,000

EZHEM N

A

1,046,451
685,203

84,718
276,530

809, 891

236,560

o
N

[
r

402 X201 ™

MW

1,046,451
685,203
84,718
276,530

809,891

236,560

03 212t &AL HI

o EYMBM XAAH(5,9148)

0
HN
02
=
o
=
U

809,891,000&

S&ZH XA (5,9148)
800& * 295,700%

Mo R

Mo

1,046,451

809,891
566,923

72,890
170,078

236,560
118,280

11,828
106,452

809, 891

236,560

&

1,165,876

125,900
2,700

1,511,505

N 345,629
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el

1z 1z o

=4t
FNE)N=ES
s

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
207 & O] 10,000 10,000 0
03 Al & 11HI 10,000 10,000 0
o B AAMTHEH ASsIHH F
100,000& * 10ha * 45 4,000
o B EA0EYE S M 4SsHMH 2
100,000& * 10ha * 3& 3,000
o B MEASK AL Z2 Iz AY
1,000,000& =* 3ha 3,000
= 22% BlsAt 2€ g 30,000 30,000 0
207 51 OH £ Hl 30,000 30,000 0
03 Al & 12HI 30,000 30,000 0
o = 22a(Y2 - Eal)Hg ds
200,000& = 15ha » 58 15,000
o EX2 012F HREMAH £ &S
200,000& = 15ha » 58 15,000
HASSEHIAS MY ELHA 2,700 0 2,700
J| 2,700
206 = Hl 2,700 0 2,700
J| 2,700
01 MHZ 4l 2,700 0 2,700
o MASSEMINSAY ELHA
7,500& * 360& 2,700
J| 2,700
DF0EI 433 AME 10,000 10,000 0
402 RI2FXt20l ™ 10,000 10,000 0
01 U2 EALE X (XA MR) 10,000 10,000 0
o NANSI MM4HX =4
1,000,000& * 10ha * 2JHA * 50% 10,000
S8 & 23 MU |4 204,000 200,000 4,000
= 102,000
e 102,000
402 RIZER201 A 204,000 200,000 4,000
= 102,000
e 102,000
02 U2 THEALEZ(0IETHR) 204,000 200,000 4,000
o JIEE & A2 3 Mol s4
1,020,000& * 200ha 204,000
= 102,000
i 102,000
H 228 % K& 66,210 0 66,210
< 19,863
e 46,347
301 LEEAZ 66,210 0 66,210
= 19,863
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 3,500
01 At 22l 7,000 6,000 1,000
o EYHE M= S5 HA 300& » 10,000& 3,000
= 1,500
[ia 1,500
o FolHEd =4 1,500,000 * 23| 3,000
= 1,500
e 1,500
o EYAHM 2Y A2E 7Y
100,000& = 58 23l 1,000
= 500
e 500
206 M= Hl 21,000 30,000 A 9,000
= 10,500
fia 10,500
01 =4l 21,000 30,000 A 9,000
o AADI 2E 220tA P2 200,000 * 158 3,000
= 1,500
[ia 1,500
o ICPIl 88 22 Jta 7Y
200,000 * 15& 3,000
= 1,500
i 1,500
o EUSA Al(QA, BM S) 7Y
200,000 * 35& 7,000
= 3,500
s 3,500
o EYEAM =iIIFR(Beta3a §) 7
200,000& * 403 8,000
= 4,000
s 4,000
ELTHA 2L (XA 6,000 6,000 0
201 Let2d] 1,000 1,000 0
02 23=2gHl 1,000 1,000 0
o EHEY 2F |RANES 250,000 * 43 1,000
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
o [CPII 2% A8 IJtA 7¢
200,000& * 258 5,000
Holls YUl X (KHA) 600,000 600,000 0
402 RI2EX20| N 600,000 600,000 0
03 212t &AL S HI 600,000 600,000 0
o ot S FATNHMel M X
150,000& = 4,000ha * 50% 300,000
o Holls =) SSLH
150,000& = 4,000ha * 50% 300,000
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L= B

el

Off &t 24

=

i
2

NS

779,307
1,115,892
546,378
3,758,732

XN

3,848,850
95,000
985,654
219,077
2,549,119

3,424,761

424,089

ekl Mz A2

[l

S

UL

1,296,000
432,000
86,400
777,600

1,080,000

216,000

307 21201 &

S

EUNL

1,296,000
432,000
86,400
777,600

1,080,000

216,000

A HL
=)

i

238 XA ()

1,200,000& = 1,100ha * 90%

>
P
Ho

2&H N (=E2)

1,200,000& * 100ha * 90%

S

M H

S

EURLY

1,296,000

1,188,000
396,000
79,200
712,800

108,000
36,000
7,200
64,800

1,080,000

216,000

x

il

AZHAE D]

(=l

HEHI 7Y X2

S

UL

60,000
15,000

4,500
40,500

120,000

260,000

S

Mo

60,000
15,000

4,500
40,500

120,000

260,000

SX(0IETHEA)

&
AZH JIH FHl X
150,000,000& » 1MIE = 40%

S

EURLY

60,000

60,000
15,000

4,500
40,500

120,000

60,000

79,200
79,200

99,000

A 19,800

307 21201 &

Jl

79,200
79,200

99,000

A 19,800

02 LA MAA BT

U o

79,200

99,000

A 19,800
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S ZNEdNE BALY Nd
165,000& = 1,600ha * 30% 79,200
J| 79,200
IMNE S22 XA 111,000 16,200 94,800
J| 55,500
s 55,500
101 1A Hl 20,000 12,500 7,500
J| 10,000
s 10,000
04 JIZHHZ2Z2XREE S 20,000 12,500 7,500
o ZANE BEZA HIE X (22d])
80,000& = 10 « 25¢ 20,000
J| 10,000
s 10,000
201 £B-2dH| 4,000 3,700 300
J| 2,000
[ia 2,000
01 At 22l 4,000 3,700 300
o ZAME FEZIAM 224 N
4,000,000& = 14 4,000
J| 2,000
s 2,000
405 XHoHF S HI 87,000 0 87,000
J| 43,500
s 43,500
01 AL ESFH S 87,000 0 87,000
o XA SEIAM FHFRY
87,000,000& = 14 87,000
J| 43,500
s 43,500
ste=sIJt ZALE 2EHl K& 184,500 184,500 0
307 21201 A 184,500 184,500 0
02 IS AHE L 184,500 184,500 0
o Bte=JF AR PLYHl X&
60,000& = 6,150 * 50% 184,500
S0 MADIEE & F ALY 66,760 59,800 6,960
< 16,328
[ia 50,432
307 21201 A 35,760 40,800 A5,040
< 9,528
[ia 26,232
02 ItFAAHE X 35,760 40,800 25,040
o AsES+=EFE XA
560,000& = 355 = 60% 11,760
< 3,528
s 8,232
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o JIZ2% ZLSEHIIAM K&
1,200,0008 * 25& * 80% 24,000
& 6,000
= 18,000
402 SI2FXHE0| M 31,000 19,000 12,000
== 6,800
= 24,200
02 SIZEXIE AU EX (0| XM THL) 31,000 19,000 12,000
o wEY SLTU N
5,000,000 * 2CH = 60% 6,000
& 1,800
= 4,200
o Z2FAA L I X
50,000,000& = 1JHA * 50% 25,000
& 5,000
= 20,000
FAEHFINE L FAD|BE 2=F 475,100 531,000 A 55,900
301 LBt A= 8,000 8,000 0
12 JIEtE A2 8,000 8,000 0
o EpsIE A AYD s e LAY
400,000& = 203 8,000
307 212t0| & 402,100 342,000 60, 100
02 QIZFEAAIRE E X 402,100 342,000 60, 100
o YIak AFMHZHM K&
6,000 * 28,000kg * 50% 84,000
o A ANESsI UHMES 22X
10,000& = 8,000% =* 50% 40,000
o JIEEh £=X&8HM N
260,000& = 770t * 50% 100, 100
o2 ABAWE LYW BI(2)
10,000& * 4,000 =* 33| 120,000
o A BLFE LTI TZ(R2)
20,000& * 3005 = 33 18,000
o EASIH TR0I(2H)KRAAS
200,000& = 400 * 50% 40,000
402 SI2FXHE0| ™ 65,000 181,000 A 116,000
01 It EANS EXR (MM H) 65,000 181,000 A 116,000
o B HUAMALY =
130,000,000& * 50% 65,000
SHhsIE AFROIE B4 2 M A5 X 212,666 45,090 167,576
= 22,478
= 190, 188
307 QI2t0| & 68,950 29,390 39,560
= 18,363
= 50,587
02 QI2tAAMAIE E X 68,950 29,390 39,560
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